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k-sample problem
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Using the data,

test this
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Proposed functional: MOT(M)
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Assumption: finitely supported measures

data: https://seer.cancer.gov
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such that Am = v




Observe that MOT(,M) =0 <= Hj is true

Construct a test using behavior of random variable MOT(ﬁn) :
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The result

pn (MOT(fi)) — MOT (1)) 22 L

extends the result of Sommerfeld and Munk (2018):

~ o~ in law
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Sommerfeld & Munk (2018), J. R. Stat. Soc. Ser. B



Construct atestof [, : 1y = ... = u using p. (MOT(ﬁn) - MOT(M)) nlw,
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data: https://seer.cancer.gov
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Toshow  p, (MOT (j1,) — MOT (1)) LN

Proof idea: . in law
Pn (:un o :u) > G
— p, (MOT(fi,,) — MOT (1)) =% MOT.(G) =: L
N\ —’
% Directional derivative
of MOT at U

Delta Method in the direction of G



pn (MOT (fi,,) — MOT (p)) =5 L

MOT(,LL) program (primal)

minf{c.
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MOT () program (dual)

How does L look?

L program ( ~ dual)
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Summary

e Proposed to use MOT for k-sample problem

e Provided limits

pn (MOT (fi) — MOT (1)) 22 1,

e Used L to test
Ho: == py
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Thank you for your attention!

Questions?



